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ANSWER SHEET
SARATAT 1.1
1. (i) gof o=t =& 2 (i) yof @t & (iii) ot @ f 2 (iv) gof @f & (v) gof o =& 2|
3.(i) == (i) fawm (iii) faws (iv) fawm (v) a9 (vi) 59 (vii) 9 (viii) 59 (ix) fawm |

STINHTAT 1.2
1. (i) ot == & (i) oot =1 91 2 (iii) i o9 8 (iv) 9of o9 ® (v) o &= &1 ®
(vi) Iof a1 &l &
2.2 313 4. 11 5. (ii) 10, (v) 484, (vi) 169
STINHIAT 1.3
1.()19  (i)20 (i) 28  (iv)32 (v)48 (vi)s4
2.16
STINHTAT 1.4

M) 23 ()37 ()32 (vi)y7e (V)30 (vi) 89 (vil) 225 (vili) 603

—

2. 43 Ufdd a1 w™
3. 38 Hiex =g AT AT
STINHTAT 1.5
1. () 27 (1) 41 (1i1) 3.05
2. ()95 (i) 2.24 (1ti) 264
STINHIAT 1.6
() 5 (1) 7 (i) 11 (i) 13 (V)21 (vi) 55 (vil) 17 (viil) 35
STINHTAT 2.1
1. (8-125 (b)—-1024 (c) 64 (d) 729
2. (8 5° (b) —(15* () —(12*  (d) —(p)’
STINHIAT 2.2
1. (@ == (b) 16 (c) —3125 (d) 1
343 25 9
: 3Y 3)°
2 @3] ol o)

4. () 99 (b) I (c) ™ (d) g™
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SINATAT 3.2
1. AF =23 2. 2.5 3. 123
STAVHATAT 4.1
1. (i) 6x2+ 25x + 14 (i) 6x2 + 17x — 45 (iii) 105x2 — 104x + 12

(V) SX+2xy-6y"  (v) X2+ 34xy - By?

2. ()9C+10xy+3y (i) 3o x+ 3 (iii) 3¢ — 5x2y + 3xy2— By3
(iv) & + 2ab + b?
STINHIAT 4.2
1. (i) —3xy (ii) 3xy (iii) +xy? (iv) —4ab
(v) —4atb’c?
: . .1, 1 1
2. (i) *=3x+2 (ii)—abt+t2at3 (iii)—3a+4a  (iv) ZX +§X_§
(v) atb+c
STINHIIT 4.3
1. (i) 8x*—4x3+15x>—3x—15 (i) 12mP-9me-6nm?+8m+16
(iii) 9M*—m*—16m>—4m+16 (iv) 12y*—8y*—6y*+4

2. ()9 (V) T AYBA YR UK BIAT & | 37 HAISTD, AT B T [UHTS ¢ |
3. () AFTHA =x2+ 3x+ 6,3 =10

(i) ITHe =x2— 2X+ 6 Y = —42

(i) AT =23 — 42 + x + 5,39 =21

(iv) RIS = 22— 2x + 3, 9¥ =12
4. (i) R =m—1,39 =5

(i) 9FTHa =& —4a+9, 99 =16

(i) ITHe = 3x2 + 4x — 3, Y = +6

(iv) RIS = 2X + 3,29 = X+ 3

STINHTAT 5.1
1. (i) < = (i) <rg =g (iii) ~ADB, ~ACB  (iv) Tg =9 AB
(v) =19 CDA (vi) og =y €D (vii) ~ADB, ZADC, ZBDC
SIRATAT 5.2
(i) ,A=45 (i) x=y=33  (iii) p= 40’ (iv) m=72",n=57"

(V) u=93,v=87"
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STINHIAT 6.3
1. ~gABIOT 2. 3TfIHPHIOT 3. 180°
STINHIAT 5.4
1. ZPRQ=90", ZQPR =50’ 2. /PYQ=/PXQ=80
3. Z/P=90",/Q=/R=45 4. /BDC =50°
5. /PTR=/PR=50
STINHIAT 6.5
1. @ x=130 () x=12¢° (©) x=y=37
2. (i) x=y=52" (i) x=150",y=75
3. «COD =70
4. PQ =32 I
5.() x=90",y=115 (ii) x=115",y=65

IIRHATAT 5.6
1. BM = 3591, AB =794,
2. x=90",y=50" 3.PM :MQ:4W,
4. (1) agfawfora (i) o+

STINHTAT 6.1
1.72 2. 60 3.8 4. 30 ..
5.67 6.5 7.3 8.5
9.x=8
STINHATAT 6.3
1= 2. 3 2 4
4 4 5 3
g 1 6.1 L
"2 2 2
STINHIAT 7.1

1(i)sﬁzm§cnﬁﬁw%‘% (ii)aﬂzﬁqﬁmﬁw%‘%
(iii) argspATuTd fa=aRor &1 & | (iV) STgehHIguTd faeor =78 2 |

2. 100, 3, 250, 6 3) 7 (4) 1000 THHY.
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5. |x | 4 24 30 44 | 52
y | 10 60 70 90
6. | wHa (et #) 3 4 @ 25 (155
T B TS 3 (. ) 48 84 1860
7. (1), (i), (iii), (iv), (V)
8. 60 fewe 9. 180 fHH.  10. 216 W  11. 50 e 12. 5 G
13. 2000 . 14. 29 fa= 15. 252 Hlex  16. 7.30 DU
17. 1.925 99 18. 4%%?1?:?1T256®2%U€ 19. 18 ¥ Ufd fa=e
20. 34 HolgX 21, 15.75 fdaca
22. (i) (b) (i) (@ (iii) (d) (iv) (c)
STINHIAT 7.2
1 8 6 4 | @ | 3
9 12 @ 10 @
o| = (et /&ver #) | 4 8 32 64
ot (et #) 40 20 0 | (5)
3. 10 faq 4. 81 e 5. 45 fdHT /GveT 6. 10 OIS
7. 45 fa 8. 175 JAfd 9. 10 fad 10. 15 fad
11. (iii), (iv),(v)  12. 80 U™ 13. 800 &Iex
JTINHIAT 8.1

1. (i) 1,515t 2 5t (i) 1,7, %y, 7%, 7y, 7xy
(iii) 1,2,7,14, ¢, 77, m,2¢,2¢,2m, 7¢, 7¢°, 7m, 14¢, 14¢%, 14m, ¢m,
2(m, 7¢m, 14¢m, ¢°m, 2/°m, 7/°m, 14¢°'m
(iv) 1,3,13,39,/, 3¢,13¢, 394, m,3m, 13m, 39m, n, 3n, 13n, 39n,
/m, 3/m, 13/m, 39¢/m, ¢n, 3¢n, 13/n, 39/n, mn, 3mn, 13mn,
39mn, /mn, 3/mn, 13/mn, 39/mn
2. (i) 99 =S (ii)) w9 =3  (iii)) 99. =2a (iv) 99. =m
3. (i) 6mv (i) 4bc (iii) xy (iv) 7x
(V) 11pg?r  (vi) X (vii) 1
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STIXNHIAT 8.2
1. (a) x? (b) 5& (c) 2c (d) 16x, 9z
(e) 6b? 4bc, 5a
2. (@) 2a(2x + 3ay) (b) a(a’y + b®) (c) d*(pr - 2t)
(d) -5/m(m+ 2¢n) (e) 5(m+ n)(m- n)
3. (8) 2(x+ 3y)(xy+2) (b) (m—2n)(5mn + 12)
(€) (3x+4)(2¢ + 3y) (d) (5% + 4y)(3x* + 2y?)
(€) (x+3)(x+8) (f) (x- 4)(3x - 5)
@ (F-m)(2m+3)
4. (a) x— 3y* (b) — 51x® + 153x?
(c) 6a®- 8a* (d) 9r? — 9mn
(e) ot®— 63t°
STIXHTAT 9.1
(1) (i) 4a+12a+9 (ii) 2i5m2+gm+%
2) (i) X—10x+25 (ii) %xz—%xyi—gyz
(iii) 4a2- 2a+ % (iv) X' - 2¢y2 + y*
(3) (i) 16x2- 25 (i) sz_yé
(iii) b*- a* (iv) X - y°
10 ,, 25

(4) (i) 4a%+ 20a+ 25 (i) gm4+3m n +%n4
(ii1) 64x8 - 80x3y® + 25y°

(5) (i) 1681 (i) 4761 (iii) 9801 (iv) 6561
(6) (i)9975 (i) 8096 (iii) 249991
(7) (i) 50 ()31 (i) -13 (iv) 13

(8) 9x%- 30xy + 25y?
.y Y
®) 96 16
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STIXHIIT—9.2
1. () (2x + 5)(2x + 5) (b) (5a+ 7b)(5a + 7b)
(€) (3x+ 1)(3x + 1) (d) (1 + 9a)(1 + 9a)
© P+ )P+ 3) (f) (6a+ 11b)(6a+ 11b)
2. (a) (a— 5b)(a— 5h) (b) (4x — 13)(4x — 13)

(c) (11x — 4y)(11x — 4y) (d) (x—15)(x — 15)
(e) (6a— 1)(6a— 1)

3. (a) (ba+ 7b)(5a- 7b) (b) (3x + 11y)(3x — 11y)
(c) (Ba+ 1)(8a-1) (d) (1 + 4b)(1 - 4b)

@ (gm+ 3M(gm - 3n)

4. (@) (x+4dy+ )X+ 4y—7) (b) (10 + 2a + 3b)(10 — 2a— 3b)
(c) (2x+ 5y + 6)(2x+ 5y —-6) (d) (7x— 5y)(5y — X)
(€) (xy + 4(xy - 4)

5. (a) (x—5y) (b) 3, x (c)7,7 (d(a+b-2)
6. X>- 10X + 25 iR 7. 5 Hfcdl
8. (X-5) Hex 9. 2 Big, 3 BIT

STIXHTAT—-10

1. @) M@ (d) Imad (|) 60° (3) 28 &1
2. (i) ot (i) T (i) & (iv) (n-2)
4. 1080°

5. 120°, 60°, 60° 6. 80°, 80°, 100°, 100°

7

.18 AT, 24 HHI
STIXHT1T—10.1
1. 50° 2. 95° 3. 72°, 108°, 72°, 108°
4. 60°,90°, 120° 5. 36°, 72°, 108°, 144° 6. 80°, 100°, 80°, 100°
SIIRATAT 12.1
(H)x=3 2)x=1 B m=2 (4)x:§

2
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G)y=4 B)y=2 (7 k=-2
(9) x=-0.5
STINHIAT 12.2
1)14,28 (2)10,30  (3)5d, 23
(5) 34 (6) ; (7) 14, 10 7
STINHTAT 13.1
1. (i)410%. (i) 1986%. (iii) 1040%.
2. ()8427%. (i) 2916%. (iii) 6480°%.
3. 5948.80%.
4.9261%.
JTINHIAT 13.2
1. 81%. 2.27783 3. 3.12%.
JTINHIAT 13.3

1. (i) 7986%.,1986%. (ii) 1764%. 164%.
(iv) 23152.50 %, 3152.50 %.

TR
(8 x=3

(4) 62

(8) 36 ¥, 12 at

4.405%.

(1i1) 11241.25, 2741.25%%.

2.729%. 3.5000%. 4. 15% 5.10%  6.46.08%.
STINHIAT 13.4

1. 1820%. 2.1200%. 3.1444%. 4. 340%.

5.12000%. 6. 937.50 %. 7.5400%. 8.13200%.

STINHIT 141

1. (i) 150 T . (i) 720 a7 L. (iii) 1800 T .

2. 1855 I HHI,, 3. 15 91, 4. 20 #I.
STINHIT 14.2

(1) 42 cm? (2) 18.75 cm? (3) 8 cm (4) 4500 dm?
STINHIAT 14.3

(1) 120 o FY (2) 30 aFF I (3) 168 T |HY (4) 40.8 o HH

(5) 12 5+, 18 &I
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STRATAT 14.4

(1) 156 a7 1 (2) 149 ¥ | (3) 530 @ HI, 2782.50 .
SIRATET  14.5

(1) 198 a7 T (2) 188,57 O WHI (3) 2794 A |HI
JTINHIAT 15.1

1. (i) gATER (ii) mreh (iii) 1078 3

2. 20790 & 4.

3. (i) 6336 91 (i) 123.20 ¥° (iii) 6600 e

4. 4:1 5. 86.24 Hice® 6. 138.6 13
STIXHTIT 15.2

1. () THYS = 1056 T2, AL U6 = 1364 12

(i) THYS = 1320 HIcR? Tul U8 = 1948.57 #ie?

(ili) THpUS = 2310 WHR, Rl g5 = 3003 T2

(iv) IS = 8800 T2, FHUl g = 10032 AH12
2. 5280 |H12 3. 69.14 JH 4. 3850 T #Ier, 3300 ¥W
5.264 9% Hlex 6. 50WH

STRATT 16
(5)6

STINHTAT 171
L (i) 1o, (iv) =
3 ()L 1y ()7, 7> (ii) 6, 6 (V)4 42

2684 ..12478

405593 Wogggn

STRATET 17.2
2. (i)8 (i) -12 (i) 20 (iV)-39 (V)59
30 (0o (i)~ (iv) =

5

4.2 5.1 6.~
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STNHIAT 17.3

. 10, BT BT I=AT 30, 50, 35, 53, AT IJPIY IWAT 305, 350, 503, 530
(A) 111, 222,333, ..., .... sIfe
(B) 111111111, 222222222, .... scqTfe

(@ 26,37,65,101
0'+ 62+ 3 =0+36+27=63 31|
1+2+3+4+5+6+7+8x9=100
A=25B=161,C=25,D=12,E=95, F=26
G=25H=23,1=167,J=561

(b) 13,34,89 (c) 99,90, 80,57 (d) 8, 6

10. () 2+2—2+2/2=3 (i)22+2-2-2=7

11.

(i) &
(i) favrsg

(iv) forsa =781 @
1. (i) 932
. (i) 560

(iii) &
(i) favrsg =8 & (i) favrsa &
(v) fawrss ®

(iii) 6570

(i)s  (v) =2

2

STRATET 17.4
(iv) T8 (v) &

(iv) 7007

STIXHATAT 18.1

(i) %

8. (1) wH fafra = (i) I | (i) I a1 (iv) I ufdeam
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STINHIIT 18.2
L) -5 @3 Gi)-2 @) -
19 2

STINHIIT 18.3
.y 111 -37
(ii) -k (iii) —=

17°9
(ii) —_1)(-_2 (III) (ixi\x_

‘%)\

.\ 7
QV)'g
3. 204 ﬁ5—E
9 4
JTINHTT 18.5
3 .- =2 —2 2
1. (i) > (u)a- Gu)—a—,—a—;g
173 3 11 23

SRR
39 =11 1 F 19
168 84 4272856
5 1 7 25 0l
T96'16'24° 48796
6. (I (ii)e~Ta (i) 3mad
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STINHTAT 19.1
1. () 6 (i) s (iii) 10°
2. 6000 oilex 3. 280 g9 IHI 4. 1200 o 99

5. () 150 &9 91 (i) 360 89 ¥ (iii) 64 T Hiex  (iv) 22.5 ¥ HIeR
(V) 35 89 | (vi) 40 T T (vii) 120 B9 FHT (viii) 168 T WHI
(ix) 37500 T FHI (X) 11.25 &9 FHI

6. 8 THI 7. 125 THS 8. 67.5 I 9. 1600 oI
10. 1 HIex 11. 4320 99 BIC 12. 1.728 O AH

13. 432 G4 HIcY (GTRdT) 288 °- HIEX (UM &I 3IA)

14. 60 &9 I, 60000 I 15. 25000 SC

STINHICT 19.2
1. () 54 (i) SRR (iii) =9
2. 1025 WHI? 3. 846 |S? 4. 4750 WA 5. 69.36 AP

6. 6 THI 7. 7950 99 8. 188 9. 9. 41



